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CHAPTER OUTLINE: 
I. Property, Plant, and Equipment

A. Land

1.  Capitalizing versus expensing

B. Buildings and Equipment

1. Cost of assets acquired

2. Depreciation for financial accounting purposes

a. An application of the matching concept

b. Cash not affected by depreciation

c. Depreciation calculation methods 

1. Straight‑line

2. Units‑of‑production

3. Declining-balance 

4. Sum‑of‑the‑years’‑digits (not illustrated) 

3. Depreciation for income tax purposes 

4. Maintenance and repair expenditures 

5. Disposal of depreciable assets

C. Assets Acquired by Capital Lease

1. Operating lease versus capital lease

2. Present Value (see chapter appendix)

D. Intangible Assets

1. Leasehold improvements

2. Patents, trademarks, and copyrights

3. Goodwill

II. Natural Resources

III. Other Noncurrent Assets

IV. Appendix—Present Value

TRUE/FALSE:

____   1.
When land with an existing building is purchased for the purpose of acquiring space to



construct a new building, the Land account should be debited for the cost of destroying



the existing building.

____   2.
Expenditures may be recorded as assets or as expenses, depending on whether it is



possible to identify future economic benefits that extend beyond one year.

____   3.
Immaterial expenditures should be treated as expenses in the year the items are



purchased, even though they may otherwise qualify for capitalization.

____   4.
Land is not depreciated because its earning power is not “used up” with the passage of



time.

____   5.
If land was purchased from a native Indian tribe of Virginia in 1759, and it was still



being used (in 2014) by the company that had purchased it originally, its reported value



on the balance sheet would not have changed in 255 years.

____   6.
The accounting gain or loss on the sale of land (and other long-term operational assets) 



accrues as a function of many factors and over extended periods of time—but it is not 



recognized until the year of sale when the earnings process on the asset is completed.

____   7.
Depreciation expense must be recorded to achieve a proper matching between revenues 



and expenses for a period of time.

____   8.
Accelerated depreciation methods result in the recognition of a greater amount of total 



expense over the life of a long-term asset than does the straight-line method.

____   9.
The declining-balance methods of depreciation ignore an asset’s salvage value until the 



year in which net book value would otherwise fall beneath the estimated salvage value.

____ 10.
Firms may use several different depreciation calculation methods in the same year for 



different types of assets.

____ 11.
Firms are allowed to switch between alternative depreciation methods for a given asset 



each year by making an annual election for financial reporting purposes.

____ 12.
The depreciation method that a firm chooses to use for tax purposes for a given asset 



must also be used for book purposes.

____ 13.
Expenditures of material amounts that are capitalized cause a need to recalculate 



depreciation amounts for the remaining life of the asset to which they relate.

____ 14.
Fully depreciated assets that are scrapped or otherwise discarded result in reporting 



losses on the income statement.

____ 15.
Large gains that result from the sale of machinery or equipment might indicate that 



the asset in question was over-depreciated.

____ 16.
Gains and losses resulting from the sale of depreciable assets are reported on the 



income statement as part of net sales and cost of goods sold, respectively.

____ 17.
Operating leases and capital leases both require periodic payments to be made by the 



lessee, but payments on capital leases are treated as if they were principal and interest 



on a long-term liability, while payments on operating leases are treated as if they were 



ordinary rent expenses.

____ 18.
A car rental at an airport would normally be recorded as an operating lease, while a



rent-to-own lease arrangement offered by a car dealership would normally be recorded 



as a capital lease.

____ 19.
A capital lease is treated in much the same way as the acquisition of a long-term asset 



with the use of long-term debt; annual depreciation expense is recorded on the leased 



asset, and interest expense is recognized on the lease liability.

____ 20.
The present value of an annuity must be computed in order to record a capital lease 



transaction (at the discounted value of future cash payments owed by the lessee).

____ 21.
As lease payments are made on a capital lease transaction, interest expense is



recognized over the life of the lease based on an appropriate interest rate, and the lease



liability is decreased by the difference between the cash payments required and the 



amount of interest expense recorded.

____ 22.
Annuity tables are used to compute the present value of a series of unequal payments 



over several future periods.

____ 23.
To use present value tables appropriately when compounding occurs more than once 



per year, the annual interest rate must be divided by the number of times compounding 



occurs per year.

____ 24.
Neither the depreciation of tangible assets, the amortization of intangible assets, nor the 



depletion of natural resources, involves the use of cash.

____ 25.
Goodwill is recorded when one company purchases another for a price greater than the 



sum of the book values of the individual assets purchased.

____ 26.
Although depreciation does not directly affect cash, it does reduce taxable income 



because it is a tax-deductible expense.   

____ 27.
Some firms use different depreciation methods for "book" and "tax" purposes.   

EXERCISES:

	1.
	On January 1, 2013, Sword's Taxi Company purchased a new cab at a cost of $20,000.  
The estimated salvage value of the cab is $5,000, and the cab's useful life is estimated to 

be 5 years.  The new cab will be driven an estimated 100,000 miles.

Case A:  

Give the entry to record depreciation on the machine for 2015 (3rd year of the asset’s life) using the double declining-balance method of depreciation.  Make your calculations below.

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	
	
	

	
	
	
	

	
	
	
	


	
	Case B:  

Compute the net book value of the cab at the end of 2015 if the units of production method is used and the actual miles driven during the life of the cab were as follows:

2013



        22,000        2016



       21,000

2014



        29,000        2017



       25,000

2015



        23,000

	
	__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	1.
	(continued)



	
	Case C:  

Compute the balance in the Accumulated Depreciation account at the end of 2016 (4th year of asset’s life) using the straight-line method.  Assume also that the cab was sold on this date for $5,700 in cash.  Record the journal entry required on January 1, 2017 to account for this transaction.

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________    

	
	

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	


SOLUTIONS:

	True/False

	
	
	
	
	
	
	
	
	

	1.
	
	T
	11.
	
	F
	21.
	
	T

	  2.
	
	T
	12.
	
	F
	22.
	
	F

	3.
	
	T
	13.
	
	T
	23.
	
	T

	4.
	
	T
	14.
	
	F
	24.
	
	T

	5.
	
	T
	15.
	
	T
	25.
	
	F

	6.
	
	T
	16.
	
	F
	26.
	
	T

	7.
	
	T
	17.
	
	T
	27.
	
	F

	8.
	
	F
	18.
	
	T
	
	
	

	9.
	
	T
	19.
	
	T
	
	
	

	10.
	
	T
	20.
	
	T
	
	
	


Exercises
	1.
	Case A:  

The double-declining rate is twice the straight-line rate, computed as follows:

100 percent  = 20 percent  x  2  =  40 percent.

   5 years

The depreciation schedule as computed is shown on the next page.  However, since the estimated salvage value was $5,000, the balance in the Accumulated Depreciation account cannot exceed $15,000.  If more than $15,000 was recorded as depreciation expense during the life of the asset, the net book value of the asset would fall below its estimated salvage value (and the asset would be over-depreciated).  In this case, depreciation in 2015 would be limited to the recorded amount of $2,200 ($15,000 - $12,800 already in the accumulated depreciation account), even though the computed amount is higher.  Thus, the taxi cab would be fully depreciated after 2015, and no expense would be shown in 2016 or 2017.

                                                                                                           Computed   Recorded
Depreciation expense schedule                                                          Amounts     Amounts      

2013 


………………    $20,000 * .40 =                       $8,000      $8,000

2014


………………    ($20,000 - $8,000) *   .40  =    4,800        4,800

2015 


………………    ($20,000 - $12,800) * .40  =    2,880        2,200
2016 


………………    ($20,000 - $15,680) * .40  =    1,728              0

2017 


………………    ($20,000 - $17,408) * .40  =    1,037              0

	
	

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	Depreciation Expense
	2,200
	

	
	         Accumulated Depreciation—Taxi Cab
	
	2,200


	
	Case B:  

The depreciation rate per mile driven would be computed as follows:

($20,000 - $5,000) / 100,000 miles = $0.15 per mile.

The depreciation expense and net book value would be computed as follows over the life of the taxi cab:

                                                    Depreciation Expense                    Net Book Value
   2013


………   $0.15 * 22,000 = $3,300     $20,000 - $3,300 = $16,700

   2014 


   $0.15 * 29,000 =   4,350       16,700 -   4,350 =   12,350

   2015 


   $0.15 * 23,000 =   3,450       12,350 -   3,450 =     8,900
   2016 


   $0.15 * 21,000 =   3,150         8,900 -   3,150 =     5,750

* 2017 


   $0.15 * 25,000 =   3,750         5,750 -   3,750 =     2,000

* Again, accumulated depreciation is limited to $15,000 because the estimated salvage value was $5,000.  Once the rate per mile driven is established (based on 100,000 expected total miles), additional depreciation should not be taken on units of production (i.e. miles driven) beyond those originally estimated.  The taxi cab would be fully depreciated once 100,000 miles have been driven.  The revised calculation for the year 2015 would be as follows: $0.15 * 5,000 remaining miles in the useful life = $750 depreciation expense.  Thus, the net book value = $5,750 - $750 = $5,000.

	
	

	
	Case C:  

The straight-line rate and annual depreciation expense are computed as follows:

100 percent = 20 percent per year rate.

    5 years                                              

$15,000 * .20 = $3,000 per year depreciation expense.

The balance in the Accumulated Depreciation account is computed as follows:

Annual depreciation expense * Number of years depreciated  =  $3,000 * 4 = $12,000

	
	

	
	Journal entry:

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                 DEBIT             CREDIT

	
	Cash 
	5,700
	

	
	Loss on Sale of Taxi Cab
	3,300
	

	
	Accumulated Depreciation
	12,000
	

	
	          Taxi Cab
	
	20,000
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